
     

 
    

 

 
  

  
 

    

  
 

  
 

 
     

    

 
  

  
 

  
   

   
     
 

 
 

 
 

  

 
   

  
 

   
 

   
 

 
 

 
 

  

 
 
  
   

    
  

 
  

   

    

    
  

  

 

   
     

    

    

  
   

  
 

New Question Type Samplers — English I RLA Answer Key 

Item 
Position Item Type TEKS 

Alignment 

Maximum 
Number 
of Points 

Correct Answer(s) 

1 Multiselect E1.8.D 2 

By suggesting that Gogol will adapt to 
kindergarten 
and 
By contrasting the schooling experiences of Gogol 
and his parents 

2 Text Entry E1.2.B 1 encompassing 

3 Multipart E1.4.F 2 

Part A: Option B 
Part B: Option B 
The student must choose Part A, option B to 
receive partial credit (1 point). 

4 Match Table 
Grid E1.4.E 2 

Expresses an Idea about Society: Rows 1 and 4 
Does Not Express an Idea about Society: Rows 2, 3 
and 5 

5 
Short 

Constructed 
Response 

E1.6.A 2 

*A rubric is used to determine the score for a 
short constructed response. 
A correct response could be similar to the 
following: 
Gogol questions his parents’ decision to use the 
name “Nikhil” in school. In paragraph 1, the 
author describes Gogol’s fear of becoming 
“Nikhil” and taking on an identity that he’s 
doesn’t know. 

6 
Extended 

Constructed 
Response 

E1.5.B 5 

*A rubric is used to determine the score for an 
extended constructed response. 
A correct response could involve a student 
explaining that Ashoke and Mrs. Lapidus are each 
focused on what they think is appropriate. Mrs. 
Lapidus seems to win the exchange because she 
registers the child as Gogol. The student would 
need to provide thorough evidence from the 
selection to support this thesis. 

7 Multiselect E1.8.C 2 

To contrast the number of Little League players 
versus major league players 
and 
To suggest that baseball leagues become more 
selective as players advance 

8 Match Table 
Grid E1.8.A 2 Intended Audience: Rows 2 and 5 

Not the Intended Audience: Rows 1, 3 and 4 

9 Multipart E1.7.D.i 2 

Part A: Option C 
Part B: Option B 
The student must choose Part A, option C to 
receive partial credit (1 point). 



 
    

 

 
  

  
 

    

 
 

 
 

  

 
 

 
 

  

  
 

  
  

   
 

   
  
  

 

 
 

 
 

  

 
 

  
   

    
   

 
     

 
 

 
 

  

 
 

  
 

  
 

     
     
     

 

 

Item 
Position Item Type TEKS 

Alignment 

Maximum 
Number 
of Points 

Correct Answer(s) 

10 Text Entry E1.2.C 1 

first appearance 
or 
beginning 
or 
start 

11 
Short 

Constructed 
Response 

E1.4.F 2 

*A rubric is used to determine the score for a 
short constructed response. 
A correct response could be similar to the 
following: 
One conclusion to draw about the coaches at IMG 
is that they care about the future of the students. 
“If we do a good job, stressing certain 
characteristics and traits that are necessary for 
anybody leaving here to be successful regardless 
of what the volition is, that’s the grand slam for 
us,” he says. 

12 
Short 

Constructed 
Response 

E1.9.C 1 

*A rubric is used to determine the score for a 
short constructed response. 
A correct response could be similar to the 
following: 
Ashley had only been driving for a few months, 
but before she could panic, her mom calmly 
instructed her to move toward the shoulder of the 
road. 

13 Inline Choice E1.9.Bi 1 Fortunately 

14 
Short 

Constructed 
Response 

E1.9.C 1 

*A rubric is used to determine the score for a 
short constructed response. 
A correct response could be similar to the 
following: 
Mom got out the jack next, which is a contraption 
specially designed to lift a heavy car off the 
ground safely. 

15 Inline Choice E1.9.C 1 precisely 
16 Inline Choice E1.9.Di 1 is not 
17 Inline Choice E1.9.Dvi 1 historical 
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